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M.Com.,, Sem.-111 '

S04 EA : Management Accnuntiﬁg - I

Time': 3 Hours| |
[Max..Marks : 70

L. (A) Give the difference betw, ' \#
(A) e the dtf‘f'erence:between Management Accounting and Financial Aceounting. 7

OR

Discuss the techniqgﬂs of Management Accounting.

(B) CalLulate and explain operating variances from the dutmls given below : ' . 7
Standard Material Cost : 8 kg per unit at ¥ 15 per kg <,
Actual Production : 3000 units

4z .t

Actual usage of materials : 28000 kg, at-a cost of T 4 ;?6 000 -

A change in the Import export ]J{ZIIIC}’ nf Govemment has made it possible to
purchase the above material at ¥ 12 per kg,

- What would be the situation if Traditional wariance Analysis is applicable ?

OR

'Explain planning variances and operating variances.

2 The f(}l]-:-wm& details have been taken ﬁr:.nm the books of Sunai Ltd. for the year ended

on 31* March, 2016 . i
| P
Sales (20000 units) £ 32,00,000
Less : Trade discount . 1,60,000
Net sales : 30,40.000 .
Cbst of Sales:
' Direct nmt'erials 8,00,000
Direct ;.vages 6,00,000
Faf.:tory overheads (variable) 2.00,000
" Administrative Overheads (fixed) 4,00,000
Selling & distribution Overheads (wumb!;:? 5,00,000 .- i

5
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The forecast for the next year
(1) Sales units to be inere

(2)  Material price to

ased by 259,

be increased by 259,

(3)  Direct wages to 20 up by 20%,

(4) Factory overheads w
(5)  Administrative ove

(6)  Selling and distribution

(7)  Profit targ

You are require
and find out selling price p

1l increase by 15%,

rheads wil] Increase by 25%.

' . 0
overheads will increase by 10%.
et for the year has been fixed at T 11,25,000.

. 5 - ¥ '}
d to prepare a budget for the year ending 31*' P h, 2017

ending on 3 March, 2017 are as under :

er unit with the agsumption that no change in * s of tl‘ﬂdE.
discount,
OR
(2)  Write short notes on Master Bud get. 7
(b)  Explain Capital Budget. 7
3. The following particulars are obtained from the records _nfSI;'i;.fam Ltd. 14
Budgeted Actual
Particulars v .
Sales Value : at < 50 per unit 20,00,000
at < 55 per unit 19,25,000
Material Cost : at ¥ 5 per kg and 4 kgs Jper unit | 8,00,000
at< 6 per kg and 4 kgs pér unit 8,40,000
Labour cost - at < 2 per hour ‘a:.ul.S hours per unit 4,00,000
at < 2,50 per hour and 4 hours per unit 3,50,000
Variable Overheads :  at % 1.50 per hour and 5 hours per unit 3,00,000
atx 2 per hour and 4 hours per unit 2,80,000
Fixed Overheads : at < 3 per unit 1,20,000
at < 4 per unit 1,40.000
Total cost : 16,20,000 Ih,lll,llll[lﬁ
wYou are required to caleulate heeessary variances and also prepare reconciliation
statement,
OR
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Answer any two of the following :

(1) Explain the single plan method of recordj
(2)  Compare single plan and partial plan.
(3) Explain favourable variances.

Ng variances.

(A) Misha Ltd. using a detailed system of Standard Costing finds that the cost of
investing of variance is T 40,000. If after investigation an out of control situation
is discovered, the cost of correction is ¥ 60,000. If no investigation is made, the
extra cost involved is ¥ 3,00,000.The probability of the process being in control is
0.80 and the probability of the process being out of control is 0.20. ' 7
You are required to advise. -
(1) Whether investi gation of the variance should be undertaken ornot.

(2) Thﬁ_e probability at which it is desirable to company dnvestigation into
variance.

OR
Write notes on materiality significance model.

(B) Explain cost-benefit model with illustration: | 7
| OR |
Explain objectives of variance analysis.

. W,

For each of the following sub-questions, more than one answers are given, out of which
only one answer is correct. Select the correct answer. Give necessary calculation of

explanation : | e 14
(1) The accounting needs to be dynamic and forward looking,

(a) Cost (b) Management

(c) Financial (d) None of these

(2) Which of the following methud is not a method of Management Accounting ?
(a) Standard Costing (b) Singl?, Entry S:_qstem
(c) Budgetary Controlled {d) Marginal Costing

(3) As per opportunity cost approach wage rate variance =
(a)  Actual Hours (Standard rate — Actual rate)
(b) Actual Hours (Revised Rate — Actual rate)
(¢) "~ Standard Hours (Actual rate - Standard rate)

(d) None of these

1g] — ised standards means _
4) - Qriginal standards — Revise ' |
- (a) Operating variance ~(b) Planning variance
(c) Both (a) and (b) (d) None of these

In a flexible budget format, at the output level of 5000 umts depreciation 18

% 15.000, the depreciation per unit at 6000 unit level would be

(B) %250
Ea; : 3 7.5 . (d) None of these
C 2.

()

PT.O.
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(0)  Sales as per sales budget 80000 units, estimated stock at the buguml.n%; u[[:‘ u}: o
S000 units, estimated stock af the end of the year 10,000 units. Stimateq

production units would be |
({l} ?5“““ lll'lil:-: ’ (h) HSUU[} "‘I"ts :
(¢) 70000 units (d)  None of these

: . - 0 acity leve
(7) At 50% capacity level factory overheads are 2 70.(1{_10 and at 7f:/"’ Clali:u:Iuﬁ u::] ::
factory overheads are 2 90,000. Amount of fixed factory over 1ead 1

above amount would be

(@) T 50,000 L (b)  T20,000
(©) X 30,000 (d) None of these
. (8)  Actual CoSts can be compared with in order to cvaluate operating
pertormance. g
(@)  Standard costs | (b) Actual revenue
(¢)  Predetermined costs (d) None of these

(P)  Sales value variance =

(@) (Agx Ap) - (Sq x Sp) (b) " (Sq x8p) - (Agx Ap)
() (SqxAp)- (Aq x Sp) (d) None of these

(10) Fixed Overhead Budget variance =

(a) Budgeted cost — Actual cost (b) <Actual cast — Budgeted cost
(¢) Budgeted cost + Actual cost & (d) None of these
AN ; rid el

(I'l1) Material price variance is =

_-——ﬁ

(@)  Aq(Sp-Ap) - * (b) Sq(AP- Sp)
(¢) Sq(Sp-Ap) . | (d)  None of these
(12) In the formulga C<(1-DP)L “p2 denote for
(a)  Net benefit from Investigation (b) Net loss from investiga’tinn
(¢) Costof invcstig_arion - ' (d)  None of these

(13). Which of the followingds not 2 Cost-variance i:wcstigntinn.mndul ?
(a)  Profit~volume mode] (b)  Control charts model
(¢) Malteriality si gnificance mode] (d) - Cost-benefit decision mode

(144 % Control chartds used for

(@) “Control chares model (b)  Material control mode]
(¢) .‘slulmnuz:lﬁigniﬁu;muc model (d) . None of these

P-106




